September 29, 2014

Review
Simplify.
a) (2y + 3x%) + (8y - 5x%) b) (2y - 2x?) - (3y + 4x?)
[ Qus3xP48y-5 |, (ay-ad+ By £)
. /08—82><°~ 2. 923:&)(‘__';5&_1&:.,

3 -g_—bxa*'

Hand in the following two questions to be marked...

a) (3x2+7x-4)+(9x%-2) b) (4x3+2x%-10) - (2x3 - 17x% + 18)
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Learning Goals

1. To understand when you expand brackets you multiply
coefficients together and add the exponents of
common bases.

2. To understand that all terms inside the bracket must
be multiplied by the term outside of the brackef.

3. Tounderstand that if there is only a subtraction sign

outside of the bracket, think of the ferm as negative
onhe.

2.5 Multiplying a Polynomial by a Monomial

Distributive Property - Multiple the term outside of the
brackets by everything in side of the brackets.

For example: 2x(3x? + 5) = 2x(3x?) + 2x(5)
= 6x7 + 10x
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Rules for Multiplying

Multiply the coefficients of the terms to get the
coefficients of the product.

2. Add the exponents to determine the exponents of the
variable terms.

Example One
Multiply.

a) WZ)
[ l%ya’+ éy

OR
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b) -%°(x3 +7x - 16x%)

[ X KEC )—lbe(-f>
- —Ix"7x>+bx*

X Don '} Jor et +o
OperatHon E<!\gy\s (\.P /C.l“)d%

c) 3x%(2x3 + 4x - B)

[, 9x3(3x’>+4x(5x‘2>-5 (3¢)
2. Lx® 42> -15X"
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Example Two
( )(2x% - B) = 8x> - 20x
What does ( ) equal?

Hint: Look at the first term in your answer and ask how
did I get this coefficient and variable?

Lb‘(QX‘L- 5> = gxa_ QDX

Example Three (a)
Determine the area of the trapezoid. >

Hint: A =0.5h(a + b)

A= D.5x (X+4+>(>
= 0.5x% <3\X+ %B
- 059 + 405K

= I+ ax
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Hints for Question #9

a) Rectangle: Azlxw
P=2(+w)

b) Parallelogram: A=b x h
P251+52+S3+S4

c) Trapezoid: A = 0.5h(a + b)
P351+52+S3+S4

Complete: p. 116 - 118 #2,6,7, 9.
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